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	Opgave.
	Udregning.
	Resultat.
	Point.

	1.
	287 + 1653
	=   1940
	1

	2.
	1132 - 467
	=   665
	1

	3.
	42 · 13
	=   546
	1

	4.
	210 / 6
	=   35
	1

	5.
	x = 34 + 12 
	=> x = 46
	1

	6.
	x = 165 / 11
	=> x = 15
	1

	7.
	500 kr. · 0,42 %
	=   210 kr.
	1

	8.
	( 280 kr / 7 ) · 4
	=   160 kr.
	1

	9.
	5,486 kg · 1000
	=   5486 g
	1

	10.
	4726 m / 1000 
	=   4,726 km
	1

	11.
	104 – 102 
	=   9900
	1

	12.
	24b + 7a – 9b
	=   7a + 15b
	1

	13.
	(6 · 8a) – (6 · 4b) – 6a
	=   42a – 24b
	1

	14.
	Afrunding
	=   65,457
	1

	15.
	Afrunding
	=   16,685
	1

	16.
	 19/6 + 16/6 
	=   35/6 <=> 5 (5/6)
	1

	17.
	 2/4 – 1/5 <=> 10/20 – 4/20 
	=   6/20 <=> 3/10
	1

	18.
	1/6 · 5/8 = (1 · 5) / (6 · 8)
	=   5/48 
	1

	19.
	16 / (2/3) <=> 16 · (3/2) = 48/2
	=   24
	1

	20.
	24+24
	=   48
	1

	21.
	54 + 43
	=   689
	1

	22.
	√144
	=   12
	1

	23.
	O = 32 · 
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	=>   O = 100,53 cm
	1

	24.
	A = 162 · 
[image: image2.wmf]p


	=>   A = 804,25 cm2
	2

	25.
	R = 
[image: image3.wmf]p

· 32 · 13
	=>   R = 367,57 cm3
	2

	26.
	Aflæsning
	=   9199 kr.
	2

	27.
	345 · 12
	=   4140 kr.
	3

	28.
	345 + 500 + 15
	=   860 kr.
	3

	29.
	Se millimeterpapir
	
	3

	30.
	(360 · x) + 500 = 9199 <=> x=24,16
	=  Efter 24 måneders leje
	3

	31.
	h = 561000 / (55 · 60) = 170
	=   max højde 170 cm
	3

	32.
	Aflæsning
	=   Sermersooq
	3

	33.
	1728 – 220 – 565 – 335 
	=   608 stemmer
	3

	34.
	Se millimeterpapir
	
	3

	35.
	3252 / 5468 = 0,5947  <=>  0,5947 · 100
	=   59,47 %
	3

	36.
	x / 40930 = 0,87  <=>  x = 0,87 · 40930
	=   35609 afgivne stemmer
	3

	37.
	Aflæsning
	=   1/2
	3

	38.
	(20 + 20 + 80 + 30 + 80 + 70) · 2
	=   600 cm
	3

	39.
	(20 + 20 + 80) · (30 + 80 + 70)
	=   21600 cm2
	3

	40.
	80 · 
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	=   251,33 cm
	3

	41.
	402 · 
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	= 5026,55 cm2
	3

	42.
	Se millimeterpapir
	
	5

	43.
	7,4449 · 9,95
	=   74 kr.
	3

	44.
	335 / 7,4449 
	=  44,99 € 
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45 € evt. 20 €
	3

	 45.
	(23,5+2) – 24 = 1,5   <=>  kl. 01:30 + 7 min.
	=   kl. 01:37
	3

	46.
	23 - 16
	=   6 dage
	3

	47.
	6 · 1 time = 6 timer  og  6 · 47 min. = 282 min
	=   10 timer og 42 min.
	3

	48.
	65 · 6
	=   390 mennesker
	3

	49.
	2250 / 90 
	=   25 mennesker
	3
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